

Point Spectra of the Operator Corresponding to the $M/M/1$ Queueing Model with Working Vacation and Vacation Interruption

Ehmet KASIM*, Geni GUPUR

College of Mathematics and Systems Science, Xinjiang University, Xinjiang 830046, P. R. China

Abstract In this paper, we consider point spectra of the operator corresponding to the $M/M/1$ queueing model with working vacation and vacation interruption. We prove that the underlying operator has uncountable eigenvalues on the left real line and these results describe the point spectra of the operator. Then, we show that the essential growth bound of the C_0 -semigroup generated by the operator is 0 and therefore it is not quasi compact, the essential spectral bound of the C_0 -semigroup is equal to 1. Moreover, our results imply it is impossible that the time-dependent solution of the model exponentially converges to its steady-state solution.

Keywords $M/M/1$ queueing model; working vacation and vacation interruption; C_0 -semigroup; eigenvalue; essential spectral bound

MR(2010) Subject Classification 47A10; 47A75; 60K25

1. Introduction

According to Zhang and Hou [1], the $M/M/1$ queueing system with working vacation and vacation interruption can be described by the following system of partial differential equations with integral boundary conditions:

$$\begin{aligned} \frac{dp_{0,0}(t)}{dt} &= -\lambda p_{0,0}(t) + \mu_0 \int_0^\infty p_{1,0}(x, t) dx + \mu_1 \int_0^\infty p_{1,1}(x, t) dx, \\ \frac{\partial p_{1,0}(x, t)}{\partial t} + \frac{\partial p_{1,0}(x, t)}{\partial x} &= -[\lambda + \theta + \mu_0] p_{1,0}(x, t), \\ \frac{\partial p_{n,0}(x, t)}{\partial t} + \frac{\partial p_{n,0}(x, t)}{\partial x} &= -[\lambda + \theta + \mu_0] p_{n,0}(x, t) + \lambda p_{n-1,0}(x, t), \quad \forall n \geq 2, \\ \frac{\partial p_{1,1}(x, t)}{\partial t} + \frac{\partial p_{1,1}(x, t)}{\partial x} &= -[\lambda + \mu_1] p_{1,1}(x, t), \\ \frac{\partial p_{n,1}(x, t)}{\partial t} + \frac{\partial p_{n,1}(x, t)}{\partial x} &= -[\lambda + \mu_1] p_{n,1}(x, t) + \lambda p_{n-1,1}(x, t), \quad \forall n \geq 2, \end{aligned} \quad (1.1)$$

with boundary conditions:

$$\begin{aligned} p_{1,0}(0, t) &= \lambda p_{0,0}(t), \\ p_{n,0}(0, t) &= 0, \quad \forall n \geq 2, \end{aligned}$$

Received October 5, 2017; Accepted November 8, 2018

Supported by the National Natural Science Foundation of China (Grant No. 11801485).

* Corresponding author

E-mail address: ehmetkasim@163.com (Ehmet KASIM); geni@xju.edu.cn (Geni GUPUR)

$$\begin{aligned}
p_{n,1}(0,t) &= \theta \int_0^\infty p_{n,0}(x,t)dx + \mu_0 \int_0^\infty p_{n+1,0}(x,t)dx + \\
&\mu_1 \int_0^\infty p_{n+1,1}(x,t)dx, \quad \forall n \geq 1,
\end{aligned} \tag{1.2}$$

and initial condition:

$$p_{0,0}(0) = \phi_0, p_{m,0}(x,0) = \phi_k(x), \quad \forall k \geq 1; p_{m,1}(x,0) = \varphi_m(x), \quad \forall m \geq 1, \tag{1.3}$$

where, $(x, t) \in [0, \infty) \times [0, \infty)$; $p_{0,0}(t)$ represents the probability that there is no customer in the system and the server is in a working vacation period at time t ; $p_{n,0}(x,t)dx$ ($n \geq 1$) is the probability that at time t the server is in a working vacation period and there are n customers in the system with elapsed service time of the customer undergoing service lying in $(x, x + dx]$; $p_{n,1}(x,t)dx$ ($n \geq 1$) is the probability that at time t the server is in a regular busy period and there are n customers in the system with elapsed service time of the customer undergoing service lying in $(x, x + dx]$; λ is the mean arrival rate of customers; θ is the vacation duration rate of the server; μ_0 is the service rate of the server while the server is in a working vacation period. μ_1 is the service rate of the server while the server is in a regular busy period.

In classical vacation queueing models, the server completely stops service during the vacation period. However, there are numerous situations where the server remains active during the vacation period which is called working vacation [2]. In 2002, Servi and Finn [3] first studied the $M/M/1$ queueing system with multiple working vacation and obtained the transform formula for the distribution of the number of customers in the system and the sojourn time in a steady state. Moreover, Wu and Takagi [4] extended Servi and Finn's [3] $M/M/1$ queueing system to an $M/G/1$ queueing system with multiple working vacation. In 2007, Li and Tian [5] first introduced the vacation interruption policy in an $M/M/1$ queueing model. Since then, vacation interruption models have been studied by several researchers, see Ke et al. [6], Zhang and Hou [1], Gao et al. [7], Liu et al. [8], Lee and Kim [9] and the references given there.

In 2010, Zhang and Hou [1] considered the $M/G/1$ queueing system with working vacation and vacation interruption where the server enters into vacations when there are no customers and it can take service at a lower rate during the vacation period. If there are customers in the system at the instant of a service completion during the vacation period, the server will come back to the normal working level no matter whether or not the vacation has ended. Otherwise, it continues the vacation. Using supplementary variable technique they established the above model and gave the Laplace-Stieltjes transform of the stationary waiting time. Then, they presented the queue length distribution and service status at an arbitrary epoch in steady state condition. In 2016, by using the C_0 -semigroups theory Kasim [10] did dynamic analysis and proved that the above model has a unique positive time-dependent solution which satisfies the probability condition. When the service completion rates are constant (in this case the $M/G/1$ queueing model is called $M/M/1$ queueing model), by studying spectral properties of the underlying operator corresponding to the model he obtained that the time-dependent solution of the model strongly converges to its steady-state solution. In 2017, Kasim and Gupur [11] studied the asymptotic property of the

time-dependent solution of the general case of above model by using the boundary perturbation method which was developed by the Greiner [12]. So far, no other results have been found in the literature. In this paper, inspired from the queueing model studied by Gupur [13–15] we prove that if $\lambda < \mu_1$, then all points in

$$\left\{ \gamma \in \mathbb{C} \left| \begin{array}{l} \Re \gamma + \theta + \mu_0 > 0, \Re \gamma + \mu_1 > 0, \\ \left| \gamma + \lambda + \mu_1 \pm \sqrt{(\gamma + \lambda + \mu_1)^2 - 4\lambda\mu_1} \right| < 2\mu_1 \end{array} \right. \right\} \cup \{0\}$$

are eigenvalue of $A+U+E$ with geometric multiplicity one. In particular, the interval $(-\min\{\theta + \mu_0, \mu_1\}, 0]$ belongs to its point spectrum when $\lambda < \mu_1 < 2\sqrt{\lambda\mu_1} - \lambda - \theta - \mu_0$. Therefore, our results imply that the C_0 -semigroup generated by the underlying operator is not compact, even not eventually compact. Moreover, by combining the results in this paper and the results in [10] together with [16, Corollary 2.11] we deduce that the essential growth bound of the C_0 -semigroup is 0. So, it is not quasi-compact. In addition, we show that the spectral radius and the essential spectral radius of the C_0 -semigroup are equal to 1, respectively. Altogether, we can conclude it is impossible that the time-dependent solution of the model exponentially converges to its steady-state solution.

Our first aim is to rewrite the Eqs. (1.1)–(1.3) in the form of an abstract Cauchy problem on a suitable Banach space. For this purpose we select the following state space (we follow the notation of Gupur et al. [17], Kasim [10, 11]).

$$\begin{aligned} X &= \{(p_0, p_1) \mid p_0 \in Y_1, p_1 \in Y_2, \|(p_0, p_1)\| = \|p_0\|_{Y_1} + \|p_1\|_{Y_2} < \infty\}, \\ Y_1 &= \{p_0 \in \mathbb{R} \times L^1[0, \infty) \times \cdots \mid \|p_0\| = |p_{0,0}| + \sum_{n=1}^{\infty} \|p_{n,0}\|_{L^1[0, \infty)} < \infty\}, \\ Y_2 &= \{p_1 \in L^1[0, \infty) \times L^1[0, \infty) \times \cdots \mid \|p_1\| = \sum_{n=1}^{\infty} \|p_{n,1}\|_{L^1[0, \infty)} < \infty\}. \end{aligned}$$

It is obvious that X is a Banach space. For simplicity, we introduce

$$\begin{aligned} \Gamma_1 &= \begin{pmatrix} e^{-x} & 0 & 0 & 0 & \cdots \\ \lambda e^{-x} & 0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & 0 & \cdots \\ \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix}, \quad \Gamma_2 = \begin{pmatrix} 0 & \theta & 0 & 0 & \cdots \\ 0 & 0 & \theta & 0 & \cdots \\ 0 & 0 & 0 & \theta & \cdots \\ \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix}, \\ \Gamma_3 &= \begin{pmatrix} 0 & 0 & \mu_0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & \mu_0 & 0 & \cdots \\ 0 & 0 & 0 & 0 & \mu_0 & \cdots \\ \vdots & \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix}, \quad \Gamma_4 = \begin{pmatrix} 0 & \mu_1 & 0 & 0 & \cdots \\ 0 & 0 & \mu_1 & 0 & \cdots \\ 0 & 0 & 0 & \mu_1 & \cdots \\ \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix}. \end{aligned}$$

Now we define operators and their domain as follows.

$$\begin{aligned}
 A \left(\begin{pmatrix} p_{0,0} \\ p_{1,0}(x) \\ p_{2,0}(x) \\ p_{3,0}(x) \\ \vdots \end{pmatrix}, \begin{pmatrix} p_{1,1}(x) \\ p_{2,1}(x) \\ p_{3,1}(x) \\ p_{4,1}(x) \\ \vdots \end{pmatrix} \right) &= \begin{pmatrix} -\lambda & 0 & 0 & 0 & \cdots \\ 0 & -\frac{d}{dx} & 0 & 0 & \cdots \\ 0 & 0 & -\frac{d}{dx} & 0 & \cdots \\ 0 & 0 & 0 & -\frac{d}{dx} & \cdots \\ \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix} \begin{pmatrix} p_{0,0} \\ p_{1,0}(x) \\ p_{2,0}(x) \\ p_{3,0}(x) \\ \vdots \end{pmatrix}, \\
 &\begin{pmatrix} -\frac{d}{dx} & 0 & 0 & \cdots \\ 0 & -\frac{d}{dx} & 0 & \cdots \\ 0 & 0 & -\frac{d}{dx} & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} \begin{pmatrix} p_{1,1}(x) \\ p_{2,1}(x) \\ p_{3,1}(x) \\ \vdots \end{pmatrix}, \\
 D(A) &= \left\{ (p_0, p_1) \in X \left[\begin{array}{l} \frac{dp_{n,0}}{dx} \in L^1[0, \infty), \frac{dp_{n,1}}{dx} \in L^1[0, \infty), p_{n,0}(x) \text{ and } p_{n,1}(x) \\ (n \geq 1) \text{ are absolutely continuous and } p_0(0) = \Gamma_1 p_0; \\ p_1(0) = \int_0^\infty \Gamma_2 p_0 dx + \int_0^\infty \Gamma_3 p_0 dx + \int_0^\infty \Gamma_4 p_1 dx \end{array} \right. \right\}. \\
 U \left(\begin{pmatrix} p_{0,0} \\ p_{1,0}(x) \\ p_{2,0}(x) \\ p_{3,0}(x) \\ \vdots \end{pmatrix}, \begin{pmatrix} p_{1,1}(x) \\ p_{2,1}(x) \\ p_{3,1}(x) \\ p_{4,1}(x) \\ \vdots \end{pmatrix} \right) &= \begin{pmatrix} 0 & 0 & 0 & 0 & \cdots \\ 0 & \mathcal{D}_0 & 0 & 0 & \cdots \\ 0 & \lambda & \mathcal{D}_0 & 0 & \cdots \\ 0 & 0 & \lambda & \mathcal{D}_0 & \cdots \\ \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix} \begin{pmatrix} p_{0,0} \\ p_{1,0}(x) \\ p_{2,0}(x) \\ p_{3,0}(x) \\ \vdots \end{pmatrix}, \\
 &\begin{pmatrix} \mathcal{D}_1 & 0 & 0 & \cdots \\ \lambda & \mathcal{D}_1 & 0 & \cdots \\ 0 & \lambda & \mathcal{D}_1 & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} \begin{pmatrix} p_{1,1}(x) \\ p_{2,1}(x) \\ p_{3,1}(x) \\ \vdots \end{pmatrix}, \quad D(U) = X,
 \end{aligned}$$

here

$$\mathcal{D}_0 = -(\lambda + \theta + \mu_0), \quad \mathcal{D}_1 = -(\lambda + \mu_1).$$

$$\begin{aligned}
 E \left(\begin{pmatrix} p_{0,0} \\ p_{1,0}(x) \\ p_{2,0}(x) \\ \vdots \end{pmatrix}, \begin{pmatrix} p_{1,1}(x) \\ p_{2,1}(x) \\ p_{3,1}(x) \\ \vdots \end{pmatrix} \right) \\
 = \left(\begin{pmatrix} \int_0^\infty \mu_0(x) p_{1,0}(x) dx + \int_0^\infty \mu_1(x) p_{1,1}(x) dx \\ 0 \\ 0 \\ \vdots \end{pmatrix}, \begin{pmatrix} 0 \\ 0 \\ 0 \\ \vdots \end{pmatrix} \right), \quad D(E) = X.
 \end{aligned}$$

Then the above system of equations (1.1)–(1.3) can be written as an abstract Cauchy problem in Banach space X .

$$\begin{cases} \frac{d(p_0, p_1)(t)}{dt} = (A + U + E)(p_0, p_1)(t), & t \in (0, \infty), \\ (p_0, p_1)(0) = \left(\begin{pmatrix} 1 \\ 0 \\ \vdots \end{pmatrix}, \begin{pmatrix} 0 \\ 0 \\ \vdots \end{pmatrix} \right). \end{cases} \quad (1.4)$$

Kasim [10] have obtained the following result.

Theorem 1.1 $A + U + E$ generates a positive contraction C_0 -semigroup $T(t)$. $T(t)$ is isometric for the initial value. Therefore, the system (1.4) has a unique positive time-dependent solution $(p_0, p_1)(x, t) = T(t)(p_0, p_1)(0)$ satisfying

$$\|(p_0, p_1)(\cdot, t)\| = 1, \quad \forall t \in [0, \infty).$$

In addition, the time-dependent solution $(p_0, p_1)(x, t)$ of the system (1.4) strongly converges to its steady-state solution $(p_0, p_1)(x)$, i.e.,

$$\lim_{t \rightarrow \infty} \|(p_0, p_1)(\cdot, t) - \beta(p_0, p_1)(\cdot)\| = 0,$$

here β is decided by the eigenvector satisfying $(A + U + E)^*(q_0^*, q_1^*) = 0$ and initial value.

2. Main results

In this section, we describe the point spectra of $A + U + E$ and obtain the main results of this paper.

Theorem 2.1 If $\lambda < \mu_1$, then all points in the set

$$\left\{ \gamma \in C \left| \begin{array}{l} \Re \gamma + \theta + \mu_0 > 0, \quad \Re \gamma + \mu_1 > 0 \\ \left| \gamma \lambda + \mu_1 \pm \sqrt{(\gamma + \lambda + \mu_1)^2 - 4\lambda\mu_1} \right| < 2\mu_1 \end{array} \right. \right\} \cup \{0\}$$

are eigenvalue of $A + U + E$ with geometric multiplicity one. In particular, the interval $(-\min\{\theta + \mu_0, \mu_1\}, 0]$ belongs to the point spectrum of $A + U + E$ when $\lambda < \mu_1 < 2\sqrt{\lambda\mu_1} - \lambda - \theta - \mu_0$.

Proof We consider the equation $[\gamma I - (A + U + E)](p_0, p_1) = 0$, which is equivalent to

$$(\gamma + \lambda)p_{0,0} = \mu_0 \int_0^\infty p_{1,0}(x)dx + \mu_1 \int_0^\infty p_{1,1}(x)dx, \quad (2.1)$$

$$\frac{dp_{1,0}(x)}{dx} = -(\gamma + \lambda + \theta + \mu_0)p_{1,0}(x), \quad (2.2)$$

$$\frac{dp_{n,0}(x)}{dx} = -(\gamma + \lambda + \theta + \mu_0)p_{n,0}(x) + \lambda p_{n-1,0}(x), \quad n \geq 2, \quad (2.3)$$

$$\frac{dp_{1,1}(x)}{dx} = -(\gamma + \lambda + \mu_1)p_{1,1}(x), \quad (2.4)$$

$$\frac{dp_{n,1}(x)}{dx} = -(\gamma + \lambda + \mu_1)p_{n,1}(x) + \lambda p_{n-1,1}(x), \quad n \geq 2, \quad (2.5)$$

$$p_{1,0}(0) = \lambda p_{0,0}, \quad (2.6)$$

$$p_{n,0}(0) = 0, \quad n \geq 2, \quad (2.7)$$

$$p_{n,1}(0) = \theta \int_0^\infty p_{n,0}(x) dx + \mu_0 \int_0^\infty p_{n+1,0}(x) dx + \mu_1 \int_0^\infty p_{n+1,1}(x) dx, \quad n \geq 1. \quad (2.8)$$

Solving (2.2)–(2.5) we have

$$p_{1,0}(x) = p_{1,0}(0) e^{-(\gamma+\lambda+\theta+\mu_0)x}, \quad (2.9)$$

$$p_{n,0}(x) = p_{n,0}(0) e^{-(\gamma+\lambda+\theta+\mu_0)x} + \lambda e^{-(\gamma+\lambda+\theta+\mu_0)x} \int_0^x p_{n-1,0}(s) e^{(\gamma+\lambda+\theta+\mu_0)s} ds, \quad n \geq 2, \quad (2.10)$$

$$p_{1,1}(x) = p_{1,1}(0) e^{-(\gamma+\lambda+\mu_1)x}, \quad (2.11)$$

$$p_{n,1}(x) = p_{n,1}(0) e^{-(\gamma+\lambda+\mu_1)x} + \lambda e^{-(\gamma+\lambda+\mu_1)x} \int_0^x p_{n-1,1}(s) e^{(\gamma+\lambda+\mu_1)s} ds, \quad n \geq 2. \quad (2.12)$$

By combining (2.6) and (2.7) with (2.9) and (2.10) we deduce

$$p_{1,0}(x) = \lambda p_{0,0} e^{-(\gamma+\lambda+\theta+\mu_0)x}, \quad (2.13)$$

$$p_{2,0}(x) = \lambda e^{-(\gamma+\lambda+\theta+\mu_0)x} \int_0^x \lambda p_{0,0} ds = \lambda p_{0,0} \frac{\lambda x}{1!} e^{-(\gamma+\lambda+\theta+\mu_0)x}, \quad (2.14)$$

$$p_{3,0}(x) = \lambda e^{-(\gamma+\lambda+\theta+\mu_0)x} \int_0^x \lambda p_{0,0} \frac{\lambda x}{1!} ds = \lambda p_{0,0} \frac{(\lambda x)^2}{2!} e^{-(\gamma+\lambda+\theta+\mu_0)x}, \quad (2.15)$$

...

$$p_{n,0}(x) = \lambda e^{-(\gamma+\lambda+\theta+\mu_0)x} \int_0^x p_{n-1,0}(s) e^{(\gamma+\lambda+\theta+\mu_0)s} ds = \lambda p_{0,0} \frac{(\lambda x)^{n-1}}{(n-1)!} e^{-(\gamma+\lambda+\theta+\mu_0)x}, \quad n \geq 1. \quad (2.16)$$

By using (2.11) and (2.12) repeatedly we obtain

$$\begin{aligned} p_{2,1}(x) &= p_{2,1}(0) e^{-(\gamma+\lambda+\mu_1)x} + \lambda e^{-(\gamma+\lambda+\mu_1)x} \int_0^x p_{1,1}(s) e^{(\gamma+\lambda+\mu_1)s} ds \\ &= p_{2,1}(0) e^{-(\gamma+\lambda+\mu_1)x} + \lambda e^{-(\gamma+\lambda+\mu_1)x} \int_0^x p_{1,1}(0) ds \\ &= [p_{2,1}(0) + \frac{\lambda x}{1!} p_{1,1}(0)] e^{-(\gamma+\lambda+\mu_1)x} \\ &= e^{-(\gamma+\lambda+\mu_1)x} \sum_{k=1}^2 \frac{(\lambda x)^{2-k}}{(2-k)!} p_{k,1}(0), \end{aligned} \quad (2.17)$$

$$\begin{aligned} p_{3,1}(x) &= p_{3,1}(0) e^{-(\gamma+\lambda+\mu_1)x} + \lambda e^{-(\gamma+\lambda+\mu_1)x} \int_0^x p_{2,1}(s) e^{(\gamma+\lambda+\mu_1)s} ds \\ &= p_{3,1}(0) e^{-(\gamma+\lambda+\mu_1)x} + \lambda e^{-(\gamma+\lambda+\mu_1)x} \int_0^x [p_{2,1}(0) + \frac{\lambda s}{1!} p_{1,1}(0)] ds \\ &= [p_{3,1}(0) + \frac{\lambda x}{1!} p_{2,1}(0) + \frac{(\lambda x)^2}{2!} p_{1,1}(0)] e^{-(\gamma+\lambda+\mu_1)x} \end{aligned}$$

$$= e^{-(\gamma+\lambda+\mu_1)x} \sum_{k=1}^3 \frac{(\lambda x)^{2-k}}{(3-k)!} p_{k,1}(0), \quad (2.18)$$

...

$$\begin{aligned} p_{n,1}(x) &= [p_{n,1}(0) + \frac{\lambda x}{1!} p_{n-1,1}(0) + \frac{(\lambda x)^2}{2!} p_{n-2,1}(0) + \cdots + \\ &\quad \frac{(\lambda x)^{n-1}}{(n-1)!} p_{1,1}(0)] e^{-(\gamma+\lambda+\mu_1)x} \\ &= e^{-(\gamma+\lambda+\mu_1)x} \sum_{k=1}^n \frac{(\lambda x)^{n-k}}{(n-k)!} p_{k,1}(0), \quad n \geq 1. \end{aligned} \quad (2.19)$$

Since $\int_0^\infty x^k e^{-\omega x} dx = \frac{k!}{\omega^{k+1}}$ for $\omega > 0$ and $k \geq 1$, (2.16) and (2.19) imply, for $\Re \gamma + \lambda + \theta + \mu_0 > 0$, $\Re \gamma + \lambda + \mu_1 > 0$

$$\begin{aligned} \int_0^\infty p_{n,0}(x) dx &= \lambda p_{0,0} \frac{\lambda^{n-1}}{(n-1)!} \int_0^\infty x^{n-1} e^{-(\gamma+\lambda+\theta+\mu_0)x} dx \\ &= \frac{\lambda^{n-1}}{(\gamma + \lambda + \theta + \mu_0)^n} \lambda p_{0,0}, \quad n \geq 1, \end{aligned} \quad (2.20)$$

$$\begin{aligned} \int_0^\infty p_{n,1}(x) dx &= \sum_{k=1}^n \frac{\lambda^{n-k}}{(n-k)!} p_{k,1}(0) \int_0^\infty x^{n-k} e^{-(\gamma+\lambda+\mu_1)x} dx \\ &= \sum_{k=1}^n \frac{\lambda^{n-k}}{(\gamma + \lambda + \mu_1)^{n+1-k}} p_{k,1}(0), \quad n \geq 1. \end{aligned} \quad (2.21)$$

Combining (2.8) with (2.20) and (2.21) gives

$$\begin{aligned} p_{1,1}(0) &= \frac{\mu_1}{\gamma + \lambda + \mu_1} p_{2,1}(0) + \frac{\mu_1 \lambda}{(\gamma + \lambda + \mu_1)^2} p_{1,1}(0) + \\ &\quad \frac{\lambda[\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{(\gamma + \lambda + \theta + \mu_0)^2} p_{0,0}, \end{aligned} \quad (2.22)$$

$$\begin{aligned} p_{2,1}(0) &= \frac{\mu_1}{\gamma + \lambda + \mu_1} p_{3,1}(0) + \frac{\mu_1 \lambda}{(\gamma + \lambda + \mu_1)^2} p_{2,1}(0) + \frac{\mu_1 \lambda^2}{(\gamma + \lambda + \mu_1)^3} p_{1,1}(0) + \\ &\quad \frac{\lambda^2[\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{(\gamma + \lambda + \theta + \mu_0)^3} p_{0,0}, \end{aligned} \quad (2.23)$$

$$\begin{aligned} p_{3,1}(0) &= \frac{\mu_1}{\gamma + \lambda + \mu_1} p_{4,1}(0) + \frac{\mu_1 \lambda}{(\gamma + \lambda + \mu_1)^2} p_{3,1}(0) + \frac{\mu_1 \lambda^2}{(\gamma + \lambda + \mu_1)^3} p_{2,1}(0) + \\ &\quad \frac{\mu_1 \lambda^3}{(\gamma + \lambda + \mu_1)^4} p_{1,1}(0) + \frac{\lambda^3[\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{(\gamma + \lambda + \theta + \mu_0)^4} p_{0,0}, \end{aligned} \quad (2.24)$$

...

$$\begin{aligned} p_{n,1}(0) &= \frac{\mu_1}{\gamma + \lambda + \mu_1} p_{n+1,1}(0) + \frac{\mu_1 \lambda}{(\gamma + \lambda + \mu_1)^2} p_{n,1}(0) + \\ &\quad \frac{\mu_1 \lambda^2}{(\gamma + \lambda + \mu_1)^3} p_{n-1,1}(0) + \cdots + \frac{\mu_1 \lambda^{n-1}}{(\gamma + \lambda + \mu_1)^n} p_{2,1}(0) + \\ &\quad \frac{\mu_1 \lambda^n}{(\gamma + \lambda + \mu_1)^{n+1}} p_{1,1}(0) + \frac{\lambda^n[\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{(\gamma + \lambda + \theta + \mu_0)^{n+1}} p_{0,0} \end{aligned}$$

$$= \sum_{k=1}^{n+1} \frac{\mu_1 \lambda^{n+1-k}}{(\gamma + \lambda + \mu_1)^{n+2-k}} p_{k,1}(0) + \frac{\lambda^n [\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{(\gamma + \lambda + \theta + \mu_0)^{n+1}} p_{0,0}, \quad n \geq 2, \quad (2.25)$$

\implies

$$p_{n+1,1}(0) = \sum_{k=1}^{n+2} \frac{\mu_1 \lambda^{n+2-k}}{(\gamma + \lambda + \mu_1)^{n+3-k}} p_{k,1}(0) + \frac{\lambda^{n+1} [\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{(\gamma + \lambda + \theta + \mu_0)^{n+2}} p_{0,0}, \quad n \geq 1. \quad (2.26)$$

By (2.26) $-\frac{\lambda}{\gamma + \lambda + \mu_1} \times (2.25)$ it follows that

$$\begin{aligned} & p_{n+1,1}(0) - \frac{\lambda}{\gamma + \lambda + \mu_1} p_{n,1}(0) \\ &= \sum_{k=1}^{n+2} \frac{\mu_1 \lambda^{n+2-k}}{(\gamma + \lambda + \mu_1)^{n+3-k}} p_{k,1}(0) + \frac{\lambda^{n+1} [\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{(\gamma + \lambda + \theta + \mu_0)^{n+2}} p_{0,0} - \\ & \quad \sum_{k=1}^{n+1} \frac{\mu_1 \lambda^{n+2-k}}{(\gamma + \lambda + \mu_1)^{n+3-k}} p_{k,1}(0) - \frac{\lambda^{n+1} [\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{(\gamma + \lambda + \mu_1)(\gamma + \lambda + \theta + \mu_0)^{n+1}} p_{0,0} \\ &= \frac{\mu_1}{\gamma + \lambda + \mu_1} p_{n+2,1}(0) + \frac{\lambda^{n+1} (\mu_1 - \theta - \mu_0) [\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{(\gamma + \lambda + \mu_1)(\gamma + \lambda + \theta + \mu_0)^{n+2}} p_{0,0} \\ &\implies \\ & p_{n+2,1}(0) = \frac{\gamma + \lambda + \mu_1}{\mu_1} p_{n+1,1}(0) - \frac{\lambda}{\mu_1} p_{n,1}(0) - \\ & \quad \frac{\lambda^{n+1} (\mu_1 - \theta - \mu_0) [\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{\mu_1 (\gamma + \lambda + \theta + \mu_0)^{n+2}} p_{0,0}, \quad n \geq 2. \quad (2.27) \end{aligned}$$

If we set

$$\begin{aligned} p_{n+2,1}(0) - \alpha p_{n+1,1}(0) - \pi_{n+2} &= \beta (p_{n+1,1}(0) - \alpha p_{n,1}(0) - \pi_{n+1}) \iff \\ p_{n+2,1}(0) &= (\alpha + \beta) p_{n+1,1}(0) - \alpha \beta p_{n,1}(0) - (\pi_{n+2} - \beta \pi_{n+1}), \quad n \geq 2, \quad (2.28) \end{aligned}$$

then comparison of (2.27) and (2.28) shows that

$$\alpha + \beta = \frac{\gamma + \lambda + \mu_1}{\mu_1}, \quad \alpha \beta = \frac{\lambda}{\mu_1}, \quad (2.29)$$

$$\pi_{n+2} - \beta \pi_{n+1} = \frac{\lambda^{n+1} (\mu_1 - \theta - \mu_0) [\mu_0(\lambda + \theta) + \theta(\gamma + \lambda + \theta)]}{\mu_1 (\gamma + \lambda + \theta + \mu_0)^{n+2}} p_{0,0}, \quad n \geq 2. \quad (2.30)$$

From (2.29) it follows that

$$\alpha = \frac{\gamma + \lambda + \mu_1 + \sqrt{(\gamma + \lambda + \mu_1)^2 - 4\lambda\mu_1}}{2\mu_1}, \quad (2.31)$$

$$\beta = \frac{\gamma + \lambda + \mu_1 - \sqrt{(\gamma + \lambda + \mu_1)^2 - 4\lambda\mu_1}}{2\mu_1}. \quad (2.32)$$

The equation (2.28) implies

$$p_{n+2,1}(0) - \alpha p_{n+1,1}(0) - \pi_{n+2} = \beta (p_{n+1,1}(0) - \alpha p_{n,1}(0) - \pi_{n+1})$$

$$\begin{aligned}
&= \beta^2(p_{n,1}(0) - \alpha p_{n-1,1}(0) - \pi_n) = \beta^3(p_{n-1,1}(0) - \alpha p_{n-2,1}(0) - \pi_{n-1}) \\
&= \dots \\
&= \beta^{n-1}(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3), \quad n \geq 2.
\end{aligned} \tag{2.33}$$

Applying (2.33), we get

$$\begin{aligned}
p_{n+1,1}(0) - \alpha p_{n,1}(0) - \pi_{n+1} &= \beta^{n-2}(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3) \implies \\
\alpha p_{n+1,1}(0) - \alpha^2 p_{n,1}(0) - \alpha \pi_{n+1} &= \alpha \beta^{n-2}(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3),
\end{aligned} \tag{2.34}$$

$$\begin{aligned}
p_{n,1}(0) - \alpha p_{n-1,1}(0) - \pi_n &= \beta^{n-3}(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3) \implies \\
\alpha^2 p_{n,1}(0) - \alpha^3 p_{n-1,1}(0) - \alpha^2 \pi_n &= \alpha^2 \beta^{n-3}(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3),
\end{aligned} \tag{2.35}$$

$$\begin{aligned}
p_{n-1,1}(0) - \alpha p_{n-2,1}(0) - \pi_{n-1} &= \beta^{n-4}(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3) \implies \\
\alpha^3 p_{n-1,1}(0) - \alpha^4 p_{n-2,1}(0) - \alpha^3 \pi_{n-1} &= \alpha^3 \beta^{n-4}(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3),
\end{aligned} \tag{2.36}$$

$$\begin{aligned}
&\dots \\
p_{5,1}(0) - \alpha p_{4,1}(0) - \pi_5 &= \beta^2(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3) \implies \\
\alpha^{n-3} p_{5,1}(0) - \alpha^{n-2} p_{4,1}(0) - \alpha^{n-3} \pi_5 &= \alpha^{n-3} \beta^2(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3),
\end{aligned} \tag{2.37}$$

$$\begin{aligned}
p_{4,1}(0) - \alpha p_{3,1}(0) - \pi_4 &= \beta(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3) \implies \\
\alpha^{n-2} p_{4,1}(0) - \alpha^{n-1} p_{3,1}(0) - \alpha^{n-2} \pi_4 &= \alpha^{n-2} \beta(p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3).
\end{aligned} \tag{2.38}$$

Adding both side of (2.33) to (2.38) we have for $n \geq 2$

$$\begin{aligned}
&p_{n+2,1}(0) - \alpha^{n-1} p_{3,1}(0) - \pi_{n+2} - \alpha \pi_{n+1} - \alpha^2 \pi_n - \alpha^3 \pi_{n-1} - \dots - \alpha^{n-3} \pi_5 - \alpha^{n-2} \pi_4 \\
&= [\beta^{n-1} + \alpha \beta^{n-2} + \alpha^2 \beta^{n-3} + \alpha^3 \beta^{n-4} + \dots + \alpha^{n-3} \beta^2 + \alpha^{n-2} \beta](p_{3,1}(0) - \alpha p_{2,1}(0) - \pi_3) \\
&\implies
\end{aligned}$$

$$\begin{aligned}
p_{n+2,1}(0) &= [\beta^{n-1} + \alpha \beta^{n-2} + \alpha^2 \beta^{n-3} + \alpha^3 \beta^{n-4} + \dots + \alpha^{n-3} \beta^2 + \alpha^{n-2} \beta + \alpha^{n-1}] p_{3,1}(0) - \\
&\quad [\beta^{n-1} + \alpha \beta^{n-2} + \alpha^2 \beta^{n-3} + \alpha^3 \beta^{n-4} + \dots + \alpha^{n-3} \beta^2 + \alpha^{n-2} \beta] \alpha p_{2,1}(0) - \\
&\quad [\beta^{n-1} + \alpha \beta^{n-2} + \alpha^2 \beta^{n-3} + \alpha^3 \beta^{n-4} + \dots + \alpha^{n-3} \beta^2 + \alpha^{n-2} \beta] \pi_3 + \\
&\quad \sum_{k=4}^{n+2} \alpha^{n+2-k} \pi_k.
\end{aligned}$$

Hence, when $\alpha = \beta$ by the Cauchy products we calculate

$$\begin{aligned}
p_{n+2,1}(0) &= n \alpha^{n-1} p_{3,1}(0) - (n-1) \alpha^n p_{2,1}(0) - (n-1) \alpha^{n-1} \pi_3 + \\
&\quad \sum_{k=4}^{n+2} \alpha^{n+2-k} \pi_k, \quad n \geq 2 \\
&\implies \\
\sum_{n=2}^{\infty} |p_{n+2,1}(0)| &\leq |p_{3,1}(0)| \sum_{n=2}^{\infty} n |\alpha|^{n-1} + |p_{2,1}(0)| \sum_{n=2}^{\infty} (n-1) |\alpha|^n + \\
&\quad |\pi_3| \sum_{n=2}^{\infty} (n-1) |\alpha|^{n-1} + \sum_{n=2}^{\infty} |\pi_{n+2}| \sum_{k=1}^{\infty} |\alpha|^{k-1}.
\end{aligned} \tag{2.39}$$

When $\alpha \neq \beta$ also by the Cauchy products we derive

$$\begin{aligned}
p_{n+2,1}(0) &= \frac{\alpha^n - \beta^n}{\alpha - \beta} p_{3,1}(0) - \alpha \left(\frac{\alpha^n - \beta^n}{\alpha - \beta} - \alpha^{n-1} \right) p_{2,1}(0) - \\
&\quad \left(\frac{\alpha^n - \beta^n}{\alpha - \beta} - \alpha^{n-1} \right) \pi_3 + \sum_{k=4}^{n+2} \alpha^{n+2-k} \pi_k, \quad n \geq 2 \\
&\implies \\
\sum_{n=2}^{\infty} |p_{n+2,1}(0)| &\leq \frac{|p_{3,1}(0)|}{|\alpha - \beta|} \left(\sum_{n=2}^{\infty} |\alpha|^n + \sum_{n=2}^{\infty} |\beta|^n \right) + \\
&\quad \alpha |p_{2,1}(0)| \left[\frac{1}{|\alpha - \beta|} \left(\sum_{n=2}^{\infty} |\alpha|^n + \sum_{n=2}^{\infty} |\beta|^n \right) + \sum_{n=2}^{\infty} |\alpha|^{n-1} \right] + \\
&\quad |\pi_3| \left[\frac{1}{|\alpha - \beta|} \left(\sum_{n=2}^{\infty} |\alpha|^n + \sum_{n=2}^{\infty} |\beta|^n \right) + \sum_{n=2}^{\infty} |\alpha|^{n-1} \right] + \\
&\quad \sum_{n=2}^{\infty} |\pi_{n+2}| \sum_{k=1}^{\infty} |\alpha|^{k-1}. \tag{2.40}
\end{aligned}$$

From (2.30) we deduce

$$\begin{aligned}
\pi_{n+2} - \beta \pi_{n+1} &= \frac{\lambda^{n+1} (\mu_1 - \theta - \mu_0) [\mu_0 (\lambda + \theta) + \theta (\gamma + \lambda + \theta)]}{\mu_1 (\gamma + \lambda + \theta + \mu_0)^{n+2}} p_{0,0}, \\
\beta \pi_{n+1} - \beta^2 \pi_n &= \beta \frac{\lambda^n (\mu_1 - \theta - \mu_0) [\mu_0 (\lambda + \theta) + \theta (\gamma + \lambda + \theta)]}{\mu_1 (\gamma + \lambda + \theta + \mu_0)^{n+1}} p_{0,0}, \\
\beta^2 \pi_n - \beta^3 \pi_{n-1} &= \beta^2 \frac{\lambda^{n-1} (\mu_1 - \theta - \mu_0) [\mu_0 (\lambda + \theta) + \theta (\gamma + \lambda + \theta)]}{\mu_1 (\gamma + \lambda + \theta + \mu_0)^n} p_{0,0}, \\
&\dots \\
\beta^{n-4} \pi_6 - \beta^{n-3} \pi_5 &= \beta^{n-4} \frac{\lambda^5 (\mu_1 - \theta - \mu_0) [\mu_0 (\lambda + \theta) + \theta (\gamma + \lambda + \theta)]}{\mu_1 (\gamma + \lambda + \theta + \mu_0)^6} p_{0,0}, \\
\beta^{n-3} \pi_5 - \beta^{n-2} \pi_4 &= \beta^{n-3} \frac{\lambda^4 (\mu_1 - \theta - \mu_0) [\mu_0 (\lambda + \theta) + \theta (\gamma + \lambda + \theta)]}{\mu_1 (\gamma + \lambda + \theta + \mu_0)^5} p_{0,0}.
\end{aligned}$$

Adding both sides of the above equation and using the Cauchy products, we obtain

$$\begin{aligned}
\pi_{n+2} &= \beta^{n-2} \pi_4 + \sum_{k=0}^{n-3} \beta^k \frac{\lambda^{n+1-k} (\mu_1 - \theta - \mu_0) [\mu_0 (\lambda + \theta) + \theta (\gamma + \lambda + \theta)]}{\mu_1 (\gamma + \lambda + \theta + \mu_0)^{n+2-k}} p_{0,0}, \\
&\implies \\
\sum_{n=2}^{\infty} \pi_{n+2} &\leq |\pi_4| + |\pi_4| \sum_{n=3}^{\infty} |\beta|^{n-2} + \left| \frac{(\mu_1 - \theta - \mu_0) [\mu_0 (\lambda + \theta) + \theta (\gamma + \lambda + \theta)]}{\mu_1} \right| |p_{0,0}| \times \\
&\quad \sum_{n=3}^{\infty} \sum_{k=0}^{n-3} \left| \frac{\lambda^{n+1-k}}{(\gamma + \lambda + \theta + \mu_0)^{n+2-k}} \right| |\beta|^k \\
&= |\pi_4| \sum_{n=2}^{\infty} |\beta|^{n-2} + \left| \frac{(\mu_1 - \theta - \mu_0) [\mu_0 (\lambda + \theta) + \theta (\gamma + \lambda + \theta)]}{\mu_1 (\gamma + \lambda + \theta + \mu_0)} \right| |p_{0,0}| \times
\end{aligned}$$

$$\sum_{n=3}^{\infty} \left| \frac{\lambda}{\gamma + \lambda + \theta + \mu_0} \right|^n \sum_{k=0}^{\infty} |\beta|^k. \quad (2.41)$$

From (2.21) and the Cauchy products of series we estimate, when $\Re\gamma + \mu_1 > 0$

$$\begin{aligned} \|p_{n,1}\|_{L^1[0,\infty)} &\leq \sum_{k=1}^n \frac{\lambda^{n-k}}{(\Re\gamma + \lambda + \mu_1)^{n+1-k}} |p_{k,1}(0)|, \quad n \geq 1, \\ &\implies \\ \sum_{n=1}^{\infty} \|p_{n,1}\|_{L^1[0,\infty)} &\leq \sum_{n=1}^{\infty} \sum_{k=1}^n \frac{\lambda^{n-k}}{(\Re\gamma + \lambda + \mu_1)^{n+1-k}} |p_{k,1}(0)| \\ &= \sum_{n=1}^{\infty} \frac{\lambda^{n-1}}{(\Re\gamma + \lambda + \mu_1)^n} \sum_{n=1}^{\infty} |p_{n,1}(0)| \\ &= \frac{1}{\Re\gamma + \mu_1} \sum_{n=1}^{\infty} |p_{n,1}(0)|. \end{aligned} \quad (2.42)$$

From (2.20) and the Cauchy products of series we estimate, when $\Re\gamma + \theta + \mu_0 > 0$

$$\begin{aligned} \|p_{n,0}\|_{L^1[0,\infty)} &\leq \frac{\lambda^{n-1}}{(\Re\gamma + \lambda + \theta + \mu_0)^n} \lambda |p_{0,0}|, \\ &\implies \\ \sum_{n=1}^{\infty} \|p_{n,0}\|_{L^1[0,\infty)} &\leq \sum_{n=1}^{\infty} \frac{\lambda^{n-1}}{(\Re\gamma + \lambda + \theta + \mu_0)^n} \lambda |p_{0,0}| \\ &\leq \frac{\lambda}{\Re\gamma + \theta + \mu_0} |p_{0,0}|. \end{aligned} \quad (2.43)$$

For simplicity, let

$$\Omega := \left\{ \gamma \in \mathcal{C} \left| \begin{array}{l} \Re\gamma + \theta + \mu_0 > 0, \quad \Re\gamma + \mu_1 > 0 \\ \left| \gamma + \lambda + \mu_1 \pm \sqrt{(\gamma + \lambda + \mu_1)^2 - 4\lambda\mu_1} \right| < 2\mu_1 \end{array} \right. \right\}.$$

It is easy to see that

$$\gamma \in \Omega \iff \Re\gamma + \theta + \mu_0 > 0, \quad \Re\gamma + \mu_1 > 0, \quad |\alpha| < 1, \quad |\beta| < 1.$$

Consequently, together with (2.39) and (2.40) we know that $\sum_{n=2}^{\infty} |p_{n+2,1}(0)| < \infty$ when $\gamma \in \Omega$. Substituting (2.9) and (2.11) into (2.7) and noting $\Re\gamma + \theta + \mu_0 > 0$, $\Re\gamma + \mu_1 > 0$ yields

$$\begin{aligned} (\gamma + \lambda)p_{0,0} &= \mu_0 \int_0^{\infty} p_{1,0}(x) dx + \mu_1 \int_0^{\infty} p_{1,1}(x) dx \\ &= \mu_0 \int_0^{\infty} p_{1,0}(0) e^{-(\gamma + \lambda + \theta + \mu_0)x} dx + \mu_1 \int_0^{\infty} p_{1,1}(0) e^{-(\gamma + \lambda + \mu_1)x} dx \\ &= \frac{\mu_1}{\gamma + \lambda + \mu_1} p_{1,1}(0) + \frac{\lambda\mu_1}{\gamma + \lambda + \theta + \mu_0} p_{0,0} \\ &\implies \\ p_{1,1}(0) &= \frac{(\gamma + \lambda + \mu_1)[\mu_0\gamma + (\gamma + \lambda)(\gamma + \lambda + \theta)]}{\mu_1(\gamma + \lambda + \theta + \mu_0)} p_{0,0}. \end{aligned} \quad (2.44)$$

Combining (2.44) with (2.22) and (2.23), we can get that $|p_{1,1}(0)|$, $|p_{2,1}(0)|$ and $|p_{3,1}(0)|$ are finite

for $\gamma \in \Omega$. Therefore

$$\sum_{n=1}^{\infty} |p_{n,1}(0)| = |p_{1,1}(0)| + |p_{2,1}(0)| + |p_{3,1}(0)| + \sum_{n=2}^{\infty} |p_{n+2,1}(0)| < \infty. \quad (2.45)$$

Together with (2.42) and (2.43) we conclude that

$$\|(p_0, p_1)\| = |p_{0,0}| + \sum_{n=1}^{\infty} \|p_{n,0}\|_{L^1[0,\infty)} + \sum_{n=1}^{\infty} \|p_{n,1}\|_{L^1[0,\infty)} < \infty,$$

which shows that all $\gamma \in \Omega$ are eigenvalues of $A + U + E$. Moreover, from (2.16), (2.19) and (2.43) it is evident that the eigenvectors corresponding to each γ span 1 dimensional linear space, i.e., their geometric multiplicity is one.

In the following, we consider the case that γ is a real number and obtain explicit results, which includes the following three cases:

Case 1 If $(\gamma + \lambda + \mu_1)^2 > 4\lambda\mu_1 \Rightarrow \gamma + \lambda + \mu_1 > 2\sqrt{\lambda\mu_1} \Rightarrow \gamma > 2\sqrt{\lambda\mu_1} - \lambda - \mu_1$, then by noting $\gamma + \mu_1 > 0$, $\gamma + \theta + \mu_0 > 0$, an easy computation shows that

$$0 < (\gamma + \lambda + \mu_1)^2 - 4\lambda\mu_1 < (\gamma + \lambda - \mu_1)^2 \Rightarrow |\alpha| < 1, |\beta| < 1,$$

which together with $\lambda < \mu_1 < 2\sqrt{\lambda\mu_1} - \lambda + \theta + \mu_0$ implies $\gamma \in \Omega$, that is, all points in $(2\sqrt{\lambda\mu_1} - \lambda - \mu_1, 0)$ are eigenvalues of $A + U + E$.

Case 2 If $(\gamma + \lambda + \mu_1)^2 = 4\lambda\mu_1 \Rightarrow \gamma = 2\sqrt{\lambda\mu_1} - \lambda - \mu_1$, then the condition $\lambda < \mu_1$ implies

$$\begin{aligned} \alpha = \beta = \frac{\gamma + \lambda + \mu_1}{2\mu_1} &\Rightarrow |\alpha| = |\beta| = \frac{2\sqrt{\lambda\mu_1}}{2\mu_1} = \sqrt{\frac{\lambda}{\mu_1}} < 1 \\ &\Rightarrow \gamma \in \Omega. \end{aligned}$$

Therefore, $\gamma = 2\sqrt{\lambda\mu_1} - \lambda - \mu_1$ is eigenvalue of $A + U + E$.

Case 3 If $(\gamma + \lambda + \mu_1)^2 < 4\lambda\mu_1 \Rightarrow \gamma + \lambda + \mu_1 < 2\sqrt{\lambda\mu_1} \Rightarrow \gamma < 2\sqrt{\lambda\mu_1} - \lambda - \mu_1$, then the condition $\lambda < \mu_1$ gives

$$\begin{aligned} \alpha &= \frac{\gamma + \lambda + \mu_1 + \sqrt{(\gamma + \lambda + \mu_1)^2 - 4\lambda\mu_1}}{2\mu_1} \\ &= \frac{\gamma + \lambda + \mu_1 + i\sqrt{4\lambda\mu_1 - (\gamma + \lambda + \mu_1)^2}}{2\mu_1} \\ \beta &= \frac{\gamma + \lambda + \mu_1 - i\sqrt{4\lambda\mu_1 - (\gamma + \lambda + \mu_1)^2}}{2\mu_1} \\ &\Rightarrow \\ |\alpha| = |\beta| &= \frac{\sqrt{(\gamma + \lambda + \mu_1)^2 - 4\lambda\mu_1} - (\gamma + \lambda + \mu_1)^2}{2\mu_1} = \frac{2\sqrt{\lambda\mu_1}}{2\mu_1} = \sqrt{\frac{\lambda}{\mu_1}} < 1. \end{aligned}$$

If $\lambda < \mu_1 < 2\sqrt{\lambda\mu_1} - \lambda + \theta + \mu_0$, then from $\gamma + \mu_1 > 0$, $\gamma + \theta + \mu_0 > 0$ we know that all points in $(-\min\{\mu_0 + \theta, \mu_1\}, 2\sqrt{\lambda\mu_1} - \lambda - \mu_1)$ are eigenvalues of $A + U + E$. Moreover, Kasim [10] proved that 0 is an eigenvalue of $A + U + E$ when $\lambda < \mu_1$.

To sum up, all points in $\Omega \cup \{0\}$ are eigenvalues of $A + U + E$ with geometric multiplicity one. In particular, the interval $(-\min\{\mu_0 + \theta, \mu_1\}, 0]$ belongs to the point spectrum of $A + U + E$ when $\lambda < \mu_1 < 2\sqrt{\lambda\mu_1} - \lambda - \theta - \mu_0$. \square

3. Conclusion and discussion

Let $\sigma_p(T(t))$ and $\sigma_p(A + U + E)$ be the point spectrum of $T(t)$ and $A + U + E$ respectively. From Theorem 2.1 and the spectral mapping theorem for the point spectrum [16, p. 277]

$$\sigma_p(T(t)) = e^{t\sigma_p(A+U+E)} \cup \{0\}$$

we know that $T(t)$ has uncountable eigenvalues and therefore it is not compact, even not eventually compact [16, P. 330].

Corollary 2.11 in Engel and Nagel [16, P. 258] states that if $T(t)$ is a C_0 -semigroup on the Banach space X with generator $A + U + E$, then

(1) $\omega_0 = \max\{\omega_{ess}, s(A+U+E)\}$, where ω_0 is the growth bound of $T(t)$, ω_{ess} is the essential growth bound of $T(t)$, $s(A+U+E)$ is the spectral bound of $A + U + E$.

(2) $\sigma(A + U + E) \cup \{\gamma \in C \mid \Re\gamma \geq \omega\}$ is finite for each $\omega > \omega_{ess}$. Here, $\sigma(A + U + E)$ is the spectrum of $A + U + E$.

From the Theorem 1.1 we know that $\omega_0 = 0$ and $s(A + U + E) = 0$. These together with the statements (1) and (2) above yield $\omega_{ess} = 0$. From this and Proposition 3.5 in [16, P. 332], we conclude that $T(t)$ is not quasi-compact. Hence, this implies the essential difference between this model and the reliability models that are described by a finite number of partial differential equations [18], population equations [19–21].

Since $\omega_0 = 0$ and $\omega_{ess} = 0$, from Nagel [22, P. 74] it follows that

$$r(T(t)) = r_{ess}(T(t)) = e^{\omega_{ess}t} = e^0 = 1,$$

where $r(T(t))$ and $r_{ess}(T(t))$ are the spectral radius and essential spectral radius of $T(t)$, respectively.

Theorem 1.1 and Proposition 4.3.14 in Arendt et al. [23, P. 268] give the decomposition

$$(p_0, p_1)(x) = (p_0, p_1)_0(x) + (\phi_0, \phi_1)(x), \quad (2.46)$$

here $(p_0, p_1)(x) \in X$; $(p_0, p_1)_0(x)$ is the eigenvector with respect to 0, i.e., $(A+U+E)(p_0, p_1)_0(x) = 0$; $(\phi_0, \phi_1) \in \overline{\text{Range}(A + U + E)}$ and $\lim_{t \rightarrow \infty} \|T(t)(\phi_0, \phi_1)\| = 0$ by ABLV theorem [23, P. 374]. Let $(p_0, p_1)_\zeta(x)$ be eigenvector with respect to $-\min\{\mu_0 + \theta, \mu_1\}\zeta$ for $\zeta \in (0, 1)$ in Theorem 2.1. Then by using $(A + U + E)(p_0, p_1)_\zeta(x) = -\min\{\mu_0 + \theta, \mu_1\}\zeta(p_0, p_1)_\zeta(x)$ we have

$$\begin{aligned} & T(t)((p_0, p_1)_0(x) + (A + U + E)(p_0, p_1)_\zeta(x)) \\ &= (p_0, p_1)_0(x) + T(t)(A + U + E)(p_0, p_1)_\zeta(x) \\ &= (p_0, p_1)_0(x) + T(t)[-\min\{\mu_0 + \theta, \mu_1\}\zeta(p_0, p_1)_\zeta(x)] \\ &= (p_0, p_1)_0(x) - \min\{\mu_0 + \theta, \mu_1\}\zeta T(t)(p_0, p_1)_\zeta(x) \\ &= (p_0, p_1)_0(x) - \min\{\mu_0 + \theta, \mu_1\}\zeta e^{-\min\{\mu_0 + \theta, \mu_1\}\zeta t}(p_0, p_1)_\zeta(x) \\ &\implies \|T(t)((p_0, p_1)_0(\cdot) + (A + U + E)(p_0, p_1)_\zeta(\cdot)) - (p_0, p_1)_0(\cdot)\| \end{aligned}$$

$$= \min\{\mu_0 + \theta, \mu_1\} \zeta e^{-\min\{\mu_0 + \theta, \mu_1\} \zeta t} \|(p_0, p_1)_\zeta\|, \quad \forall t \geq 0.$$

This shows that there are no positive constants $\nu > 0$ and $\varrho > 0$ such that

$$\|T(t) \left((p_0, p_1)_0(\cdot) + (A + U + E)(p_0, p_1)(\cdot) \right) - (p_0, p_1)_0(\cdot)\| \\ \leq \nu e^{\varrho t} \|(p_0, p_1)\|, \quad \forall t \geq 0, \quad \forall (p_0, p_1) \in D(A).$$

That is, it is impossible that the time-dependent solution of the system (1.4) exponentially converges to its steady-state solution. i.e., the convergence result given in Theorem 1.1 is optimal.

Acknowledgements The authors would like to express their sincere thanks to the anonymous referees and associated editor for his/her careful reading of the manuscript.

References

- [1] Mian ZHANG, Zhengting HOU. *Performace analysis of M/G/1 queue with working vacation and vacation interruption*. J. Comput. Appl. Math., 2010, **234**: 2977–2985.
- [2] V. M. CHANDRASEKARAN, K. INDHIRA, M. C. SARAVANARAJAN, et al. *A survey on working vacation queueing models*. Int. J. Pure Appl. Math., 2016, **106**: 33–41.
- [3] L. D. SERVI, S. G. FINN. *M/M/1 queues with working vacations (M/M/1/WV)*. Perform. Eval., 2002, **50**: 41–52.
- [4] Dean WU, H. TAKAGI. *M/G/1 queue with multiple working vacations*. Perform. Eval., 2006, **63**: 654–681.
- [5] Jihong LI, Naishuo TIAN. *The M/M/1 queue with working vacation and vacation interruptions*. J. Syst. Sci. Syst. Eng., 2007, **16**(1): 121–127.
- [6] J. C. KE, C. H. WU, Z. G. ZHANG. *Recent developments in vacation queueing models: A short survey*. Int. J. Oper. Res., 2010, **7**: 3–8.
- [7] Shan GAO, Zaiming LIU. *An M/G/1 queue with single vacation and vacation interruption under Bernoulli schedule*. Appl. Math. Model., 2013, **37**: 1564–1579.
- [8] Baoliang LIU, Lirong CUI, Yanqing WEN, et al. *A cold standby repairable system with working vacations and vacation interruption following Markovian arrival process*. Reliability. Eng. Sys. Safety., 2015, **142**: 1–8.
- [9] D. H. LEE, B. K. KIM. *A note on the sojourn time distribution of an M/G/1 queue with a single working vacation and vacation interruption*. Oper. Res. Perspect, 2015, **2**: 57–61.
- [10] E. KASIM. *Semigroup methods for the M/G/1 queueing model with working vacation and vacation interruption*. J. Math. Res., 2016, **8**: 56–77.
- [11] E. KASIM, G. GUPUR. *Asymptotic property of the time-dependent solution of the M/G/1 queueing model with single working vacation and vacation interruption*. Afr. Mat., 2017, **28**(7-8): 1327–1348.
- [12] G. GREINER. *Perturbing the boundary conditions of a generator*. Houston J. Math. 1987, **13**(2): 213–229.
- [13] G. GUPUR. *On eigenvalues of the generator of a C_0 -semigroup appearing in queueing theory*. Abstr. Appl. Anal. 2014, Art. ID 896342, 9 pp.
- [14] G. GUPUR. *Point spectra of the operator corresponding to the exhaustive-service M/M/1 queueing model with single vacations*. J. Systems Sci. Math. Sci., 2015, **35**(1): 49–64.
- [15] G. GUPUR. *Point spectrum of the operator corresponding to a reliability model and application*. J. Pseudo-Differ. Oper. Appl., 2016, **7**(3): 411–429.
- [16] K. J. ENGEL, R. NAGEL. *One-Parameter Semigroups for Linear Evolution Equations*. Springer, New York, 2000.
- [17] G. GUPUR, Xuezhi LI, Guangtian ZHU. *Functional Analysis Method in Queueing Theory*. Research Information Ltd., Hertfordshire, 2001.
- [18] G. GUPUR. *Functional Analysis Methods for Reliability Models*. Springer, Basel, 2011.
- [19] Jian SONG, Jingyuan YU. *Population System Control*. Springer, Berlin, 1988.
- [20] G. F. WEBB. *Theory of Nonlinear Age-Dependent Population Dynamics*. Marcel Dekker, New York, 1985.
- [21] A. RADL. *Semigroups Applied to Transport and Queueing Process*. Ph. D. Thesis of Eberhard Karls Universität Tübingen, Germany, 2006.
- [22] R. NAGEL. *One-Parameters Semigroups of Positive Operators*. Springer, Berlin, 1986.
- [23] W. ARENDT, C. J. K. BATTY, M. HIEBER, et al. *Vector-Valued Laplace Transforms and Cauchy Problems*. Springer, Basel, 2011.